BR. $HhiBERBRUARY I7OZEA (MmBEHI)

I s (s o s 2w a4 b B N R N S SR ,' ' l '
987 F (CFE BE) BRI 5, —Boktoo CISUES o (i, O D OREAIIEL S 0 2530, it T, ) Mﬁ’iﬁ@v@mmﬂ@:m b
(— AR E-NAICRE DD DAL SVET, FIEA— I — I TR TS, EHE A DoT5 4, MWEED TETT, ) T ARSI Porarrsar X
(20235 9B] #HE—E% BAREHFH 2023 & 8 B 3 H U L L
TEL:026—256—9677
XA, R ERDHL S TR A— /LI, info@tke—g.jp FTTHAETEINY, [2023% 9A] <~X—v 1> FAX:026—256—0688
wHEA| - KGO/ ) AR . AR 7 47 —HEREGHAH) o et
©A) A= HfEA SA @ﬁ”ﬂ ey e | rrp— B O & aeee j]M| jt%Rl = B 380, O<OPNTRHEREKERLTWOET,
3A |mEEZE. el fbAZ/—RT7—h- VHEST 4] 319.9 | 97.9 | ST | 155+4 [0l| 1&1&4&5 #)191=50.0% 10 3 450 |[~Y] <HEZ5>3R=50.0% (MdEH#A"=155[0] | + MR 4[R]#E))
[~ $F] T4y K12 | CALh##k IS 100 1&15 #k#=100.0% 10 [ 1,500 SAN—&IE. T1/11TCH/ LHIE, L EFER=1/3
(FRPREE +4m]) [~V=118 CEED GlE>3R=50.0% (RFEI=100[H15) KAk
[Cxrn] |*ST#T000H - 1,212 8s %=1 [l - 2 e R=1/3 ZEN=63.9% SAN—#I1%. T1/12.8 | TCH LHHE,, L5EFEE=1/3
B [P T %= 11/12.81 TCHAA LR 24 18 R=1/3 #hfe=80.5% [EF2—]<HEZ>10R=100.0% (MEHFH=155[0] |+ MK ML 4[a]Hx )
@i (L= 5 LEISHIE | <. 40 2020 8 J0L A > = W 1 11 [0 HkigE=82.0% = AN~ E, [1/11TCH LiE, 4EHE=1/3
@ =14Tb k) @NER) =72l @IREB) =7/ | | (RTCHA 103 ) KT = — TR 112D B R3S T+ 4[m])
@R FFHO=41F | - TFs M@ =41 @IEF—ELIH) @I/NYY IHEFE=7L
T4 ALPEAEHIL FM—JF viifEiR A 4| 319.7 | 77.9 0n| 1&1&4 FEI=75.0% | | T 10 | 1,500 |[~>] <IRFAD B 10R=2.0% (RER=11a1) 569 X=1/1= ichu il 3%
[ fihise ([™=1/77.9) | 1A 1&1&15&15 | f#kfki=100.0% 10 | 1,500 <R T 10R=73.0% (FFAE=100[8]) 3 & fE%=1/77.9
STHAT |[ciE ) R0 72) 100 [H[3%¢~Y=1{# <FEE> (CXVIRZ & Tr) CEHED> T 10R=25.0% (HpfE=72L)
el |- [ieR]=1/1 X EAT=15M | 25A=75.0% [ B chuFLZEBONUS-2[5 H ]
- RfE = 10007l X TAT=15M | Mkii=84.1% 3¢ M IB(1/1)=50%) « [ XA (I 100[B#5) =50% ) DI 43T 12,
CxTchRpf X0 | L THRER) [ Fa—]<Wi> 1 10R=30.5% (Me=1[a]#5) 31 X=1/1= EchufL 2%
@i L=t | <> 110R=29.6% (HHE=100[E]) ¥ ERESR=1/77.9
O =THITHHRE @NHRI =2l @IREH =21 <clHF4E >0R=39.9% (W7=100[E]HA) STV &k
Q@R FFHNO=4MF - TFs M@= 11H) @IETF=—MEH ) @I/INYY fEFE=(FX©)1/1.66
=W |Pre-Saki- 2 HTG iR A ] 319.9 | 27.6 - 0] 1&1&1&4&5| #H=53.0% Fek2 | 19195 [[~V] <IRFHI>10R=53.0% (RfE=10,00[R1HA + FRLREF4[E1L)
N—THAT° Q40550 7 10,000 [H] 1&15 fk#7=81.0% | 10 2 300 G >3R=47.0% (FREE=721)
XY =118 CEED> 10 | 1,500 [[FEFa—] <Fp4>10R=81.0% (H4H=10,00E#5 + 71757 4[a]#x)
@il A L= 22 A=53.0% (XVIRE G T?) GEHEDFFR2R=19.0% (RFEE=0[0]H5 + 7R IR B 4[R]HE)
O =THITHMARE @NHRIEL =4l @IREH =hHY Hk#57=83.6% | AET = — TR AH 1220 B S 92 T +41m] |
Q@R FHNO=4F - TFs M@ =41H) @IETF=—MEHl) @/INYY FEFE= (FX©)1/30.2 CR TR AR | & r)
A—— [P gRT— )T —12 IRE2REIR & 4 | 229.95 | 2.62 0l 3&1&4&5 W)E1=51.0% 10 3 450 |[~Y] <H#ED>3R=1.0% (HE=4,500[H#5)
MH | s (%=1/69.35) | B4E 100 [A] 1&15 #k#E=100.0% 10 | 1,500 <IRFET>3R=50.0% (IRF4E=100[a])
cIRP RS [P ] (D —im) 4,500 [H]| 3%~ = 38 CEED (%VIREET0) GEH>3R=49.0% (FikE=721)
IRe]=1/1 ML=} 22 A=51.0% [EF=—] <HE> 10R X 3[a] (45004 2) =5.5% (H4E=100[=])
+ INF4=4,500H] ¥AT=15(H HEAE=T76.6% SHFEL>10R X 2[8] (30007 +2) =26.9% (F#4E=1001=])
@5 (L= AR | | O Tt 1D | LU THRE) <41 10R=43.8% (IFEi=100/E])
@R H =THFIDA%) @NERIMEZE) =7l @IREH) =&Y <HFJE> 0R=23.8% (FRfE=100[0]) 3 STRFH A&k
QLR DO=418) - [H5X@ =20l @EF=—HENiH) @I/ SV IfkR= (FXD)1/2.65
101




X PSR BBV ENHLIEE . TR A— VT, info@tke—g.jp FTIEAEL I, [20234F 9A] <~<— 2>

58 H o et RKYOFER(/ ) AR AR P JENFHR 727 —VEREGA ) N I
om|” 7 A PA7 | s | s | e | weEs o & fgess| ot | oour | HE S oE O OPIRERERL CE T
17H [ JFJ  [PUXZ W07 HRES IRE2FEIR G 4] 319.6 | 9.8 0 1&1&1&5 | #E=79.5% | 10 [ 10 [ 1,500 [~>] <HF4E>10R=79.5% (=561 -+ F R4l UL D IEEY
IMA | ol | Y0 cis & te) | RpgE T 56 [E]| &1&1&1&15 | Hkke=100.0% C¥VIRZ & T2) GEE>10R=20.5% (BEeE=721)
TR ==1/217.7 83 [A 3%~ =11A CEED [ FAZRUSHH] WL DIAEY
(GROREE + 4] | XEAT=16 | 22 A=79.5% > T0R=77.9% (FFAE=83[a] -+ F&{R4[E]) WL D §H
XTAT=1M8  |fkft T=70.4% GEET>OR=22.1% (=832t v k)
@il A L= fkfee T=82.9% [ EAZRUSHHT] 3L DS /W VR ER
O H=THITHIE @NBRIEL =L @IREH =5V CBFFE>10R=77.4% (REAE=83[n]+F&fR4ln]) 3 WL DB
O O=417) - H5XM@ =4 @EF=—HEki) @I/ Y4y fR= (FHD)1/80.9 G >OR=22.6% (HpfE=83EIZ)Evh)
EXT4 |PHMALT 7 #4015 | VEEST || 199.2 | 82.6 | STH 135 [m] 1&1&5 #[E]=25.0% 10 3 330 |[~Y] <HEZE>10R=1.0% *3R=24.0% (4>, STEY}F=135[])
Fesk~omEz F | (ST=135) Wpgh | 100 [A] &1&11 fk#55=100.0% 10 1,100 GEE>3R=75.0% (Hp4E=100[=])
K~y =118 <FED T 2— TR A 125D | ReE e B X T2 T+ 4[]
@l L= XX =118 22 \=55.6% [EF2—] <FFE>10R=100.0% (STEYF=135[1])
@ E =HHTHIHE @RI =721 @IRZEH) =5V MfE=80.7% MEFRPICHROTRYYL B A, THEE=200E]#5 12,
O O=411) - M@ =41F) @IEF—ELil) @I/ Y40 HeR=720
SANKYO P77 .¢— S —EAHiHEE IFE2FEIRA| M%) 99.9 | 3.87 1A 1&1&5 #IF1=100.0% 3 210 |[~Y] <HfEZ5>10R=0.5% (FpAE=250[m]+ (R 1[A])
UTFXT EAME YR IR 6 &I&T&T | MkFE=100.0%| 10 9 630 R 3R=99.5% (Ipfi=11R]+ F% PR ed L))
250 [\l 3~y =118 <CEED> 10 | 700 [[HF2—] CREARER 20T 4FT F v A8 4E)
(FRAAEE + 1)) [ EAT=7/ 22 A=45.0% (XVIRE G T?) <R 9R=8.0% (REAE=2500]+ 2 (B 115])
(5441 % 299 [EI[3 FAT=T{& Hk#5E=92.0% IR >3R=92.0% (HpE=6[0]+ 7 {%5E 1))
(ST 250 [A] [EF2—] CRTOEDHEBFEVER)
<R 9R=8.0% (REAE=2500]+ 2% (R B 15])
R >3R=76.0% (HpE=250[0]+ (L 1A])
@R H =B @NKRI=7L @IREH =5 FFEL>3R=16.0% (FEHE=6[R]+ 7R EH 115])
ORFE M DO=417) - HX@=118) @EF=—Hki) @YY IfER= (FHD)1/4.0 MET =— MR U XD, BB I8 T+ 1m])
E R (PisEnA 9YULY | ZAST | 4| 99.9 | 504 | STH 23 [E| 1&1&5 WIE=100.0% | =10 | £ 10 | 1,000 |[-~/] <eZ> E10R=1.0%(IST23[E] ] + [H:45229(8] | + 544 4 ])
(ST=23) ST 77 F| &1&10&6 | MkHE=100.0%| T10| T 5 | 300 ifEZE> TF5R=99.0% (ST23[H])
229 [H]3%~Y =11# CEE> [EFa—] <FEZ> 110R=9.0% ([ST23[m] | + [H§4E229[m] | + 244 A])
(544 1] W1kt 230 [E %A 1EBh =118 | 2% A=40.0% 5> FER=7.0% (TST23[E] ) + [ HpE5229[8] | + M54 4 4))
(EFTE 379 [\ 3¢ EAT=10f8 | fkisi=76.6% ifeZE> 1 10R=41.0% (TST23ME] | + MHE4E77H] )
@ =THTHHRE] @KL =7 @IREH) =7L X TAT=6f0 |CxrmariEat) <feZE> FB5R=43.0% ([ST23[E | + M4 77]E] )
OO =4l - THXO=41H] @TEF=—HEL) @T/IEY frRk=721 3¢ TST23[E] | + 22918 | + NEEAA A 1%, RIERS O,
OF3AM |PEE=L 7= AH ZAST [#] 99.9 | 63.6 | STH 35 A 1&1&6 #)[E1=100.0% 10 2 300 |[~Y] <#EZE>10R=1.0%([ST=35[m]1] + [HfE=1150E]] + F{f4Mm])
(ST=35) ST 0[] &6&15&15 | fkfi=100.0% 10 |1,500 <JifeZE> 2R=99.0% (ST=35[H])
115 [E[3~Y =11# <FEDS [EFa—] <FEZ>10R=10.0%([ST=35[a] ] + [Hp4E=115[] | + 7E{%4E])
(RAREE 44D [ EAT=15M | 22 A=43.0% s> 2R=90.0% (TST=35[m] | + [H:EE=115[A] ] + F&154M])
(5241 HER(6 299 [ 3¢ FAT=16fE | fk#i=82.7% SEF a— TEF A 12X, STHEEEEITEE T+ 400 )
iRETR 379 [a] CRIERRR AR S Te)
@ =H{THikk) @IEBIRIELE =72l @IREH) =/l
QR N DO=418 ) - T X@ =418 @IEF=—HELiul) @I/ YV feR=721
24H




